20174E7 A12H [T 2R WIHGE 2 metsints

R ¥MIHE2HRERE £§20m E/;f— [ :—> iﬁ 120, 28.8. 14.4. 9.6. 7.25M ’
5 w R = # 0:50.7 MSFISERARSY 534 23 355 1 434 1 445 1 i }
YS5ILYFR 2% ER B4 L BF 0:49.9 L—R 5y FEk : SMS 13 SWM_8 MMM 4 MMS 3 Grant J
PEEE | PEEYR | BEXES F 3R 14IE=RfEE ;s%a BigE GE, ¥.iE) B 2TE=L—R% I/ F4vT 95 3IE= %IIE EH - BE - AR st
B F | HEEHEZT|S £2651237 EAE -8 BFE-FE 2. 3. 4AEBIERL 5TE=iEH- 2 EiHikEE 244 EAYS
26 | & = |EREE/AE|H  4EUT fﬁSF(HEL\ MFEH, SELY)  HTER¥S3 FML ﬁl’;ﬁﬁs& Ay-h~4f - 3F~AF - 1{3F(5~1) +Y 3 FIELL
WE | £ 5 | 4 80BE (s B | BRy o | L—ALYSFRAL - HBEOLYSFSAL > 05 oBAwRT IFE=1EEXE2%EE GER) 1. 2. SEEOMH
BAoX | BEAME | 678 AMM| # BeFR| M2 g0 BiE 4 3R 4FERT 5ERT
FTHAYI TR H2 . T |EA 0000 |/A=00.00
= _ HAS 40000 [ 20000
TLTARET—R (50" 1 £40000 | F190.0.00
1o |srx—oLor E | B5EA +40.0.00 | F£0.00.0
(R=RSRYF—) EE 194 B40.0.0.0 [ F/10.0.0.0
0.0.0.0 40000 [ -
ik 0.0.0.0 | 05020580 | £ 0.0.0.0
ERE 32 - T . |EF0.000 |/A=00.00
- RE #E40.0.0.0 [ F=0.0.0.0
Furro—35 54.0 .210 %40000 | F180.0.00
2o |L=—35vyz—n B | hFEE 540.0.0.0 | F£0.0.0.0
(Sx Ty b) @B 71 E40000 | F/00.0.0.0
0.0.0.0 £40.000 [ -
EERE 0.0.0.0 | #05£0%£0i80 | £3 0.0.0.0
ANZEUSA R E 32 s T |BEZ0.0.00 [/A=0.000
SYPRETN L1 #E40.0.0.0 [ 20000
TOv/RvEY 54.0 .139 40000 | 290000
3| A | RvanE— B | RAM +40.0.00 | F£0.0.0.0
HoF—9(LUR) B 224 EH0.000 | F/00.0.0.0
0.0.0.0 250000 [ e
ALEE 0.0.0.0 | 30500580 | £ 0.0.0.0
RE=Jrin—X 32 T |EZ0000 |/A=00.00
Sy N = N JNERE 440000 [ F20000
TynAT4X 54.0 265 50000 | 10000
LAPNIEPZE 1% P73 4 F40.0.0.0 | F+£0.0.0.0
(F VR v E—2) & E40.0.0.0 [ F/10.0.0.0
. 0. 40000 [ -
itk 0502080 | £ 0.0.0.0
% 32 B Egoooo JN=70.0.0.0
= = N KBX 384 0.0.0.0 | F=0.0.0.0
IRFTFrY 540 177 %40000 | F1M0.0.00
5[5 a2l 35900 v%— & | ®EE F40.0.0.0 | F+0.0.0.0
(ha14—v—2) R 252 FH0.0.0.0 [ F/10.0.0.0
0.0.0.0 £40.000 [ -
EEE— 0.0.0.0 | 30502080 | £ 0.0.0.0
BE 5 — ~ 820miE4t B Al (SEETHARS : 2015.07. 10~2017. 07. 09) BER 3 H R
|[:tod AHES HEES 1F 2%&F 3F &S 23 e %% 1 2 3 456 7 8
1 PIRTA TSR 6 2 0 2 2 0.333 0.333 (37%ME) 29 30 24 24 39 20 50 32
2 ¢ 4 2 0 1 1 0.500 0.500
3 2 2 0 0 0 1.000 1.000 B ERIE R
4 7 1 1 0 5 0.143 0.286 820m A — I - 287 A BESEMOL—RB LM 44
5 1 1 0 0 0 1.000 1.000 XXX nn - XXX:RBAGRE i L—XH
6 R¥—tkZ7AaY 1 1 0 0 0 1.000 1.000
N L—R35 v TR
: bo1=27 ! ! o0 0 1.000 1.000 80m H—h-H 2B TR BESEMOL—RM R 4H
FITING U2 1 1 0 0 0 1.000 1.000 XXX nn XXX S v FHER mn: L—R %
9 YVTFTIA VR 1 1 0 0 0 1.000 1.000
10 F7EISYIVIR 2 1 0 0 1 0.500 0.500

20177 12H EH 2R WIHGE 2 MEBRE Y5 7Ly MR

2i% R 820m H—h + f

i g iz, Y HOFEERLIL

HIEHRH,

BTAERE,

TARTEMEFRITOMLREMAELT FEW,
A5 OB, R E T,



